)

3

4)

®)

(6)

N

8

@

62 =

78 -

24 -

Q9 -

Q4 =

43 -

62 -

49 =

64 =

46 -

38 =

(20

@n

(22)

(23)

24)

(25)

(26)

@7

(28)

29

(30)

3N

(32)

20 =

47 =

bhH =

82 =

48 -

84 -

26 -

88 -

b2 =

29 =

85 -

50 -

98 -

34 =




@

)

4

®)

©)

N

®

@

62 =

78 -

24 -

90 -

Q4 =

43 =

12 -

15 -

41

68 -

19 =

62 -

49 =

64 -

46 =

38 -

2HT -1 HIR DAY (BEXK)

+ 2 = 3
+ 9 = 8
T4 = 6
t 9 = 1
+ 5 = 18
6 = 7
5= 2
2 =7
7 =5
7 =8
3= 6
+ 3 = 20
+ 6 = 8
+ 8= 38
9 =5
T4 = 6

20

@n

(22)

(23)

24)

(25)

(26)

@n

(28)

29

€]

3D

(32)

25 =

47 =

b5 -

82 -

48 -

84 -

26 -

88 -

b2 =

29 =

85 -

50 -

98 -

34 =



